Request for Athletic Dept Supplies 2014-2015 School Year Winter Athletic Bid 15-004-BOE

G A / 10/28/H

Sport: Boys Lacrosse

					Aluminur	n Athletic	A	rc	В	SN	Pyramid		Riddell	
ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)		EXTENDE D PRICE	UNIT PRICE	EXTENDE D PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
1	50	dz		Maverik, white, balls must meet NOCSAE Rule/Specs	\$23.30	\$1,165.00	\$23.90	\$1,195.00	\$18.15	\$907.50	\$21.36	\$1,068.00		
2	8	ea	Whistle	Plastic whistle with lanyard							\$0.79	\$6.32	\$1.47	\$11.76

					Tr	iple
ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	UNIT PRICE	EXTENDE D PRICE
1	50	dz	Lacrosse balls	Maverik, white, balls must meet NOCSAE Rule/Specs	\$17.94	\$895.00
2	8	ea	Whistle	Plastic whistle with lanyard	\$0.70	\$5.60

Request for Athletic Dept Supplies 2014-2015 School Year Winter Athletic Bid 15-004-BOE

Sport: Boys Basketball

	_				_	A	rc	В	SN	Pyr	amid	Ric	idell
ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	ALTERNATE BID ITEM	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
3	12	ea	Lancas and the same and the sam	Spalding TF 1000 2k Pro Basketball, Mens size 29.5	No Alternate	\$36.80	\$441.60	\$35.74	\$428.88			\$68.86	\$826.32
4	3	ea	Scorebooks	Cramer Score Books Mark V	No Alternate			\$3.91	\$11.73	\$5.99	\$17.97	\$5.25	\$15.75

						S	&S	Tr	iple
ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	ALTERNATE BID ITEM	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
3	12	ea	Basketball	Spalding TF 1000 2k Pro Basketball, Mens size 29.5	No Alternate				
4	3	ea	Scorebooks	Cramer Score Books Mark V	No Alternate	\$5.00	\$15.00	\$4.64	\$13.80

Request for Athletic Dept Supplies 2014-2015 School Year Winter Athletic Bid 15-004-BOE

Sport: Girls Basketball

						А	rc	В	SN	Pyra	amid	Rid	dell
ITEM NO.		UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)		UNIT PRICE	EXTENDE D PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
5	7	ea	Heavy Trainer Basketballs	28.5 inches, 36-40 ounces				\$25.74	\$180.18	\$12.99	\$90.93		
6	18	ea	Basketballs	Spaulding TF 1000, 28.5	No Alternate	\$36.80	\$662.40	\$35.74	\$643.32		s	\$68.86	\$1,239.48
7	3	ea	Scorebooks	Mark V Basketball Scorebooks	No Alternate			\$3.91	\$11.73	\$5.99	\$17.97	\$5.25	\$15.75
8	2	ea	Rebounding Rim					\$77.30	\$154.60				
9	1	pkg	Slipp-Nott	Replacement Sheets	No Alternate			\$33.90	\$33.90				
10	4	ea	Cones	3 foot						\$18.98	\$75.92		

						S	3.S	Tri	ple
ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	ALTERNATE BID ITEM	UNIT PRICE	EXTENDE D PRICE	UNIT PRICE	EXTENDED PRICE
5	7	ea	Heavy Trainer Basketballs	28.5 inches, 36-40 ounces				\$14.00	\$98.00
6	18	ea	Basketballs	Spaulding TF 1000, 28.5	No Alternate	\$40.82	\$734.76		
7	3	ea	Scorebooks	Mark V Basketball Scorebooks	No Alternate	\$5.00	\$15.00	\$4.60	\$13.80
8	2	ea	Rebounding Rim					\$37.00	\$74.00
9	1	pkg	Slipp-Nott	Replacement Sheets	No Alternate			\$39.00	\$39.00

_ I	: I					ł	1
	\$ I					607.50	1
I 10	8 A I	ea	Cones	3 foot	\$24.38	\$97.52	1
1 10		ca	COHES	J 100L	ΨZ4.30	\$97.5Z	1

Request for Athletic Dept Supplies 2014-2015 School Year Winter Athletic Bid 15-004-BOE

Sport: Wrestling

						В	SN	Pyra	amid	Rid	dell	S	%S
ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	ALTERNATE BID ITEM	UNIT PRICE	EXTENDE D PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
11	24	rolls	Mat Tape			\$5.47	\$131.28	\$4.99	\$119.76				
12	2	each	Scorebook	Predicament Scorebook	No Alternate	\$16.26	\$32.52						
13	1	cs	Skin Cream	KS Skin Crème	No Alternate								
14	3	sets	Wrestling Anklets	1 red, 1 green		\$6.64	\$19.92	\$6.99	\$20.97				
15	4	each	Whistles	plastic		\$2.96	\$11.84	\$0.45	\$1.80	\$5.50	\$5.50	\$0.34	\$1.36

				1		Tri	ple
ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	ALTERNATE BID ITEM	UNIT PRICE	EXTENDE D PRICE
11	24	rolls	Mat Tape			\$4.40	\$105.60
12	2	each	Scorebook	Predicament Scorebook	No Alternate	\$21.00	\$42.00
13	1	cs	Skin Cream	KS Skin Crème	No Alternate	\$170.00	\$170.00
14	3	sets	Wrestling Anklets	1 red, 1 green		\$6.10	\$18.34

15) 4	each	plastic	\$0.40	\$1.60

Request for Athletic Dept Supplies 2014-2015 School Year Winter Athletic Bid 15-004-BOE

Sport: Girls Waterpolo

						i i	BSN	Pyra	amid	S	&S
ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	ALTERNATE BID ITEM	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
16	3	each	Waterpolo Balls	Mikasa, women's	No Alternate	\$19.30	\$57.90	\$25.99	\$77.97	\$27.49	\$82.47

Request for Athletic Dept Supplies 2014-2015 School Year Winter Athletic Bid 15-004-BOE

Sport: Girls Lacrosse

						B	SN	Pyr	amid	Tri	ple
ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	ALTERNATE BID ITEM	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
17	1	each	Scorebooks	Brine Lax	No Alternate					\$9.90	\$9.90
18	3	case	Lax balls	Brine NCAA balls, must meet NOCSAE/NFHS standards	No Alternate	\$208.00	\$624.00	\$213.60	\$640.80		

Request for Athletic Dept Supplies 2014-2015 School Year Winter Athletic Bid 15-004-BOE

Sport: Boys and Girls Tennis

							Arc	B	SN	Pyra	amid
ITEM NO.	rained in	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	ALTERNATE BID	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
19	20	cases	Wilson Tennis Balls	Wilson Championship Tennis Balls	No Alternate	\$58.80	\$1,176.00	\$62.16	\$1,243.20	\$60.72	\$1,214.40

Request for Athletic Dept Supplies 2014-2015 School Year Winter Athletic Bid 15-004-BOE

Sport Baseball

						A	arc	В	SN	Pyra	amid	Rid	dell
ITEM NO.	QTY	0 M	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	ALTERNATE BID ITEM	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
20	35	dz	Spalding Game Baseballs	TF-500 must have NFHS stamp	No Alternate	\$59.60	\$2,086.00						
21	15	dz	Rawlings practice Baseballs	NFHS approved	No Alternate	\$39.00	\$585.00			\$47.99	\$719.85	\$23.50	\$352.50
22	5	ea	Scoremaster Scorebooks	Scoremaster Baseball Scorebooks	No Alternate			\$2.95	\$14.75				
23	84	ea	Baseball Caps	OCB Sports Elite MLB Series Navy	No Alternate			\$13.95	\$1,171.80			\$11.67	\$980.26
24	50	ea	Baseball Line-Up cards					\$3.77	\$7.54				
25	2	ea	Batting Tees		No Alternate			\$13.43	\$26.86	\$18.98	\$37.96	\$17.50	\$35.00
26	2	ea	Pitch Counter	Martin TC99 Pitch Counter	No Alternate			\$3.29	\$6.58	\$3.99	\$7.98	\$6.20	\$12.40
27	6	ea	Training balls	Total Control TCB 82 3.2" 425 grams	No Alternate			\$79.89/dz	\$79.89				
28	4	ea	Training balls	Total Control Atomic Balls 4.7" 900 grams	No Alternate			\$52.72/6	\$52.72				

(4						S	&S	Tr	iple
ITEM NO.	QTY	UO M	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	ALTERNATE BID ITEM	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
20	35	dz	Spalding Game Baseballs	TF-500 must have NFHS stamp	No Alternate				
21	15	dz	Rawlings practice Baseballs	NFHS approved	No Alternate				
22	5	ea	Scoremaster Scorebooks	Scoremaster Baseball Scorebooks	No Alternate			\$3.60	\$18.00
23	84	ea	Baseball Caps	OCB Sports Elite MLB Series Navy	No Alternate				
24	50	ea	Baseball Line-Up cards					\$0.20	\$10.00
25	2	ea	Batting Tees		No Alternate	\$14.21	\$28.42	\$15.00	\$30.00
26	2	ea	Pitch Counter	Martin TC99 Pitch Counter	No Alternate			\$3.80	\$7.60
27	6	ea	Training balls	Total Control TCB 82 3.2" 425 grams	No Alternate			\$14.80	\$84.00

					Total Control Atomic Balls 4.7" 900				
L	28	4	ea	Training balls	grams	No Alternate		\$18.00	

Request for Athletic Dept Supplies 2014-2015 School Year Winter Athletic Bid 15-004-BOE

Sport: Softball

						A	ırc	В	SN	Pyr	amid	Ric	idell
ITEM NO.	QTY	иом	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	ALTERNATE BID ITEM	UNIT PRICE	EXTENDE D PRICE						
29	12	dz	Softballs	12" Leather NFHS, Dudley Thunder Heat (yellow)	No Alternate	\$57.80	\$693.60	\$63.82	\$765.84				
30	2	ea	Scorebook	Glovers Shortform Scorebook	No Alternate							\$11.00	\$22.00
31	6	bags	Turface Quick Dry	50 lbs.	No Alternate								
32	1	ea	Easton 2015 or 2014 Mako Torq Fastpitch Softball Bat	33", 23 ounce	No Alternate	\$296.00	\$296.00						
33	2	dz	JUGS Softie Softballs	Yellow	No Alternate			\$38.84	\$77.68	\$55.98	\$111.96	\$58.97	\$117.94

						S	ßS.	Tri	ple
ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	ALTERNATE BID ITEM	UNIT PRICE	EXTENDE D PRICE	UNIT PRICE	EXTENDE D PRICE
29	12	dz	Softballs	12" Leather NFHS, Dudley Thunder Heat (yellow)	No Alternate	\$57.96	\$695.52		
30	2	ea	Scorebook	Glovers Shortform Scorebook	No Alternate			\$9.90	\$19.80
31	6	bags	Turface Quick Dry	50 lbs.	No Alternate				
32	1	ea	Easton 2015 or 2014 Mako Torq Fastpitch Softball Bat	33", 23 ounce	No Alternate				

ĺ									
L	33	2	dz	JUGS Softie Softballs	, 0	No Alternate		\$55.00	\$110.00

Request for Athletic Dept Supplies 2014-2015 School Year Winter Athletic Bid 15-004-BOE

Sport: Boys Swim

							ripie
ITEM NO.	QUANTITY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	ALTERNATE BID ITEM	UNIT PRICE	EXTENDED PRICE
34	15	sets	Finis Agility Paddles	5 large, 10 medium	No Alternate	\$20.00	\$300.00